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A)—4J | XEX |2ATE| Fks | EET | ZEEE| Bs Fa ke | BxaE] JES
K5k 0-2 0-1 1-0 0-4 3 1 7 -6 4
@2l 20 6-0 3-0 0-1 9 11 1 +10 2
YO 1-0 0-6 2-0 1-3 6 4 9 -5 3
AR T 0-1 0-3 0-2 1-2 0 8 -7 5
=HBE| 4-0 1-0 3-1 2-1 12 10 2 +8 1
A
BU—4 | IKEHE | B |HAHM| =F iR = g k| | BERE| Ek
i E2 B 0-1 1-0 0-2 3-0 6 4 3 +1 3
=g 1-0 4-0 2-0 5-1 12 12 1 +11 1
=HME| 01 0-4 0-3 2-0 3 2 8 -6 4
= 2-0 0-2 3-0 0-1 6 5 3 +2 2
EiE 0-3 1-5 0-2 1-0 3 2 10 -8 5
BEk
a )= | BEE | FKke | B |=HHE| BS B k| |BEaE| Ek
i E2 B 1-0 1-2 0-1 3 2 3 -1 3
=R 0-1 0-1 1-1 1 1 3 -2 4
= 2-1 1-0 3-2 9 6 3 +3 1
=HEE| 1-0 1-1 2-3 4 4 4 +0 2
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BYU—Y | ERT |FARKM| K@k = B = (g km |BERAE| EH
smT 0-0 2-4 7-0 4 9 4 +5 2
R M| 00 0-6 0-2 1 0 8 -8 4
KA 4-2 6-0 5-0 9 15 2 +13 1
=1 0-7 2-0 0-5 3 2 12 -10 3
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